2-4 Writing Linear Equations
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Ex 1) Write an equation in slope-intercep t form that has a slope of -3/5 and
passes through (5 2) MX'P
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Point-Slope Form:|y - y; = m(x - x4) where m = slope ann
the graph
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Ex 2) Write an equatlon in(slope-interce rm of the line through (2, 3) and ( -3, 7)
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Parallel and Perpendicular Lines: Parallel lines have the same
slope and perpendicular lines of the opposite reciprocal slope

Ex 3) Write an equation for the line tha hrough (3, -2) and
parallel to the line whose equation i Then, write an
equation of the line that passes through (3, -2) that is perpendlcular

to the equation y = -5x + 1. ﬁ(w I( al M:.' {-’

Ex 4) As a part-time salesperson, Jean Stock is paid a daily salary plus
commission. When her sales are $100, she makes $58. When her sales are

$300, she makes $78. (&ks )MA§$
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A) Write a linear equation representing this situation.
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B) What is Ms. Stock's daily salary? commission rate? = == 'o
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C) How much would Jean make in a day if her salesWere $5007
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